E | FI A E (L 1.7 2. 15 3.=2F
1 (8] 1,040 1,660 2,080
HHE= (6 04) 2 [g] 2,080 3,120 4,160
2H 3,120 4,680 6,240
1 (8] 500 750 1000
B—2EE (244%) 2 [g] 1,000 1,600 2,000
2H 1,600 2,250 3,000
1[a] 420 630 3840
BoaEE (124) 2 [g] 3840 1260 1680
cal= 1260 1890 2520
1[8] 980 1470 1960
B=x#EZE (544%) 2 [g] 1,960 2,940 3,920
cal= 2,940 4,410 5,880
1[8] 1,000 1,500 2,000
fZE (364) 2 [g] 2,000 3,000 4,000
cal= 3,000 4,500 6,000
1[E] 2,520 3,780 5,040
*HBE (5004) 2 [g] 5,040 7,560 10,080
cal= 7,560 11,340 15,120
& AFM A 1[E 50 75 100
=IRA 1810 50 75 100
NREIv by 1 1] 100 150 200
NL—R—)L 1 1] 220 330 440
SERE 1541 [ 540 810 1080
IRAALE 1541 [ 540 810 1080
1[E 890 1335 1780
FEE (704) 2 [g] 1,780 2,670 3,560
2H 2,670 4,005 5,340
e7 1] 540 810 1080




